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QUESTION 1

How do you ensure that specific Validation, Editing, and Estimation (VEE) rules are applied to estimated
measurements?

A. by adding the VEE Group to the Device Configuration Type

B. by adding the estimation rules to the Manual Override VEE Group to the Measuring Component Type
C. by adding the VEE Group to the Device Type

D. by adding the VEE Group as the Fallback VEE Group for the appropriate VEE role

Correct Answer: B

QUESTION 2

The base package usage transaction business object is represented by D2-UsageTransaction. The usage calculation
engine or process drives the specifics of the usage to be calculated on this business object.

Based on this, which three configuration areas will have an impact on the usage calculation process? (Choose three.)
A. VEE rule

B. TOU map

C. Usage Rule

D. Factor Override

Correct Answer: BCD

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf

QUESTION 3

A usage subscription must exist before usage transactions can be calculated for a specific service point.
Where do you configure the usage recipient?

A. in the Usage Rule Type

B. in the Service Point Type

C. in the Device Type

D. in the Measuring Component Type

E. in the Usage Subscription Type

Correct Answer: E
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Reference: https://docs.oracle.com/cd/E59115 01/Files/4.2.2.1%20MDMv2.0.1%20Calculate% 20Usage.pdf

QUESTION 4

How many bill segment-related financial transactions do pay plans have?

A. depends on the number of payments that is part of the pay plan

B. one

C. depends on the number of bills that will contain the customer\\'s pay plan commitments
D. none

E. unlimited

Correct Answer: C

QUESTION 5
Your client has the following requirements:

Many customers are installing their own solar electrical generation equipment. When these customers generate more
electricity than required for their own use, the surplus can he exported back to the power grid.

In order to measure this generation, we have installed special scalar devices. These devices have separate registers to
measure the energy generated (export) and the energy received (import) from the National Grid. Both reads will be
stored in kWh, but the import is subtractive and export is consumptive.

What solution should you choose to configure the measuring component types for these specific requirements?

A. Create two service points: one for subtractive import and the other for consumptive export.

B. Create one new measuring component type for creating two measuring components (one for import and the other for
export) that will be linked to one scalar device.

C. Create one new measuring component type for creating a new measuring component that will be linked to two
different scalar devices (one for import and the other for export).

D. Create two new measuring component types (one for subtractive import and the other for consumptive export) to
enable the creation of two measuring components that will be linked to one scalar device.

Correct Answer: D
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